A NON-UNICELLULAR OPERATOR

Joo Ho Kang and Young Soo Jo

ABSTRACT. In this paper, we want to give an operator which is not unicellular. We try to prove the non-unicellularity of the operator by using the method given in [8].

1. Introduction

The study of invariant subspaces is one of the most important, most difficult, and most exasperating problems of operator theory. One of the questions about invariant subspaces is the following: is there an operator whose lattice of invariant subspaces is isomorphic to the positive integers? In other words, is there an operator for which there is an one-to-one and order-preserving correspondence $n \mapsto M_n$, for each $n = 0, 1, 2, \dots, \infty$, between the indicated integers (including ∞) and all invariant subspaces? An operator satisfying the above condition is called to be unicellular and we have such well-known operators: Donoghue weighted shift operator, Volterra operator, etc. And there are many ways to solve the problem. We have investigated and found a sufficient and necessary condition which a strictly lower triangular operator can be unicellular and showed the unicellularity of the Donoghue weighted shift operator under a certain condition in [8].

In this paper, we want to give an operator which is not unicellular. This investigation will give an information under which condition a strictly lower triangular operator can be unicellular or not.

We first introduce some definitions and a theorem. Let \mathcal{H} be a Hilbert space and A an operator on \mathcal{H} . Let M denote a subspace of \mathcal{H} . M is invariant under A means that $Ax \in M$ for all $x \in M$.

Received September 27, 1999.

²⁰⁰⁰ Mathematics Subject Classification: 47L99.

Key words and phrases: unicellular, invariant subspace.

This is partially supported by KOSEF 94-0701-02-3 and TGRC-KOSEF.

The collection of all subspaces of \mathcal{H} under A is denoted by Lat A. An operator A is unicellular if the collection Lat A is totally ordered by inclusion. Let A be a bounded operator with ||A|| < 1 on ℓ^2 , and let $\{e_0, e_1, \cdots\}$ denote the standard basis for ℓ^2 . Let x be a column vector in ℓ^2 . Then $A^n x$ is a column vector in ℓ^2 for each $n = 1, 2, \cdots$, and we have an infinite matrix $[x, Ax, A^2x, \cdots]^t$ which will be denoted by $S_x(A)$. The matrix $S_x(A)$ is a bounded linear transformation on ℓ^2 .

THEOREM 1([8]). Let A be a strictly lower triangular operator with ||A|| < 1 and U the unilateral shift on ℓ^2 . Then A is unicellular if and only if for any $x = (1, x_1, \dots)^t \in \ell^2$, $S_x(U^{*N}AU^N)$ is one-to-one for every $N = 0, 1, 2, \dots$.

2. An Example

Let W_1 and W_2 be operators on ℓ^2 defined by the following: $(W_1)_{k \ k+1} = r^{2k+1}$ and $(W_2)_{k \ k+2} = r^{k+1}$ for $k = 0, 1, 2, \cdots$ and the other entries are zero, where 0 < r < 1.

Then, from easy computation, we have the following facts.

i)
$$(W_1^n)_{k} = r^{2k+1}r^{2k+3}\cdots r^{2k+2n-1} = r^{n(n+2k)}, k = 0, 1, 2, \cdots$$

ii)
$$(W_2^n)_{k,2n+k} = r^{k+1}r^{k+3}\cdots r^{k+2n-1} = r^{n(n+k)}, k = 0, 1, 2, \cdots$$

iii)
$$(W_1^{n-j}W_2^j)_{k}$$
 $_{n+j+k} = r^{(n-j)(n-j+2k)+j(n+k)}, k = 0, 1, 2, \cdots$

iv)
$$(W_2W_1)_n m/(W_1W_2)_n m = r^3$$
 for any $n = 0, 1, 2, \cdots$ and $m = n+3$.
Let $B = W_1 + W_2$. Then

$$\begin{split} B^n &= (W_1 + W_2)^n \\ &= W_1^n + W_1^{n-1} W_2 + W_1^{n-2} W_2 W_1 + \dots + W_2 W_1^{n-1} \\ &+ W_1^{n-2} W_2^2 + W_1^{n-3} W_2^2 W_1 + \dots + W_2^2 W_1^{n-2} + \dots \\ &+ W_1^{n-j} W_2^j + W_1^{n-j-1} W_2^j W_1 + \dots + W_2^j W_1^{n-j} + \dots \\ &+ W_1 W_2^{n-1} + W_2 W_1 W_2^{n-2} + \dots + W_2^{n-1} W_1 + W_2^n. \end{split}$$

From the expansion of $(W_1 + W_2)^n$, we look at all terms in the above expansion which contain exactly n - j W_1 's and j W_2 's for $0 \le j \le n$.

We let $a_k(n,j)$ denote the number of these terms requiring exactly k-interchanges of W_1 with W_2 to obtain $W_1^{n-j}W_2^j$. Let P(n-j,j,k) be the number of partitions of $k=(k_1,k_2,\cdots,k_m),\ k_1\geq k_2\geq \cdots \geq k_m,$ $m\leq j$ and $k_i\leq n-j$ for $i=1,2,\cdots,m$. Then

$$P(n-j, j, k) = \begin{cases} 0 \text{ if } k > j(n-j) \\ 1 \text{ if } k = j(n-j). \end{cases}$$

LEMMA 2. For positive integers n, j, and k, $P(n-j, j, k) = a_k(n, j)$.

Proof. Let (k_1, k_2, \dots, k_m) be a partition of k such that $\sum_{i=1}^m k_i = k$, $0 < k_m \le k_{m-1} \le \dots \le k_1 \le n-j$, and $m \le j$. This partition corresponds to a term having n-j W_1 's and j W_2 's by the following procedure. Start from the term $W_1^{n-j}W_2^j = \underbrace{W_1W_1 \cdots W_1}_{n-j} \underbrace{W_2W_2 \cdots W_2}_{j}$.

Interchange the first W_2 (from the left side) with W_1 k_1 times. Interchange the second W_2 with W_1 k_2 times.

:

Interchange the m-th W_2 with W_1 k_m times. Then the term given by the above procedure requires exactly k-interchaning of W_1 with W_2 to get $W_1^{n-j}W_2^j$.

Reversing this procedure each term having n-j W_1 's and j W_2 's which needs exactly k-interchanges of W_1 with W_2 to get $W_1^{n-j}W_2^j$, determines a partition of k into at most j parts, each $\leq n-j$. So, $a_k(n,j) = P(n-j,j,k)$.

THEOREM 3. Let $B = W_1 + W_2$.

- i) $B_{0 n+j}^n = (W_1^{n-j}W_2^j)_{0 n+j}(1 + a_1(n,j)r^3 + a_2(n,j)r^6 + \cdots + a_{j(n-j)}(n,j) r^{3j(n-j)})$ for all $0 \le j \le n$, where $a_0(n,j) = 1$.
- ii) $B_{0 n+j}^n = B_{0 n+(n-j)}^n$ for each $0 \le j < n_0$, where $n_0 = \begin{cases} \frac{n}{2} & \text{if } n \text{ is even} \\ \frac{n-1}{2} & \text{if } n \text{ is odd.} \end{cases}$
- iii) $\frac{B_0^n}{B_0^n} \frac{n+j}{n+j+1} < r \text{ for all } 0 \le j < n_0.$

iv)
$$\frac{B_{0 \ n+j}^n}{B_{0 \ n+n_0}^n} < r^{n+n_0-(n+j)}$$
 for $0 \le j < n_0$.

Proof. i) $B_{0 n+j}^n = (W_1^{n-j}W_2^j + W_1^{n-j-1}W_2W_1W_2^{j-1} + \cdots + W_2^jW_1^{n-j})_{0 n+j}$. By the definition of $a_k(n,j)$,

$$B_{0\ n+j}^n = (W_1^{n-j}W_2^j)_{0\ n+j} \left(1 + a_1(n,j)r^3 + a_2(n,j)r^6 + \cdots + a_{j(n-j)}(n,j)r^{3j(n-j)}\right).$$

ii) $(W_1^{n-j}W_2^j)_{0\ n+j} = r^{n^2-nj+j^2} = (W_1^jW_2^{n-j})_{0\ 2n-j}$ for $0 \le j < n$. Since $a_k(n,j)$ is the number of terms requiring exactly k-interchanging of W_1 with W_2 to obtain $W_1^{n-j}W_2^j$, and since $a_k(n,n-j)$ is equal to the number of terms requiring k-interchanging of W_2 with W_1 to get $W_1^jW_2^{n-j}$, we have $a_k(n,j) = a_k(n,n-j)$. Hence,

$$\begin{split} &B_{0\ n+j}^{n} \\ &= (W_{1}^{n-j}W_{2}^{j})_{0\ n+j}(1+a_{1}(n,j)r^{3}+\cdots+a_{j(n-j)}(n,j)r^{3j(n-j)}) \\ &= (W_{1}^{j}W_{2}^{n-j})_{0\ 2n-j}(1+a_{1}(n,n-j)r^{3}+\cdots+a_{j(n-j)}(n,n-j)r^{3j(n-j)}) \\ &= B_{0\ 2n-j}^{n}. \end{split}$$

iii) By i) and Lemma 2,

$$\begin{split} &B_{0\ n+j}^{n} \\ &= (W_{1}^{n-j}W_{2}^{j})_{0\ n+j} \Big(1 + P(n-j,j,1)r^{3} + \dots + P(n-j,j,j(n-j)) \\ & \qquad r^{3j(n-j)} \Big) \\ &= (W_{1}^{n-j}W_{2}^{j})_{0\ n+j} \sum_{n=1}^{\infty} P(n-j,j,k)r^{3k}, \end{split}$$

since P(n-j, j, k) = 0 if k = 0 or k > j(n-j). By Theorem 3.1 in [1, p.33],

$$\sum_{k=0}^{\infty} P(n-j,j,k)r^{3k} = \frac{(r^3)_n}{(r^3)_{n-j}(r^3)_j},$$

where $(r^3)_k = (1-r^3)^k (1-r^3)^{k-1} \cdots (1-r^3)$ for $k = 0, 1, \cdots$. Hence,

$$B_{0\ n+j}^{n} = (W_{1}^{n-j}W_{2}^{j})_{0\ n+j} \frac{(r^{3})_{n}}{(r^{3})_{n-j}(r^{3})_{j}}$$

and

$$B_{0\ n+j+1}^n = (W_1^{n-j-1}W_2^{j+1})_{0\ n+j+1} \frac{(r^3)_n}{(r^3)_{n-j-1}(r^3)_{j+1}}.$$

Thus,

$$\begin{split} \frac{B_{0\ n+j}^n}{B_{0\ n+j+1}^n} &= \frac{(W_1^{n-j}W_2^j)_{0\ n+j}(1-(r^3)^{j+1})}{(W_1^{n-j-1}W_2^{j+1})_{0\ n+j+1}(1-(r^3)^{n-j})} \\ &= \frac{r^{n^2-nj+j^2}}{r^{n^2-n(j+1)+(j+1)^2}} \frac{1-(r^3)^{j+1}}{1-(r^3)^{n-j}}. \end{split}$$

Since $0 \le j \le n_0 - 1$, $j + 1 \le n - j$. Hence, $\frac{1 - (r^3)^{j+1}}{1 - (r^3)^{n-j}} \le 1$. And

$$r^{n-2j+1} < r \text{ for all } 0 \le j < n_0. \text{ Thus } \frac{B_0^n \,_{n+j}}{B_0^n \,_{n+j+1}} < r.$$

$$\text{iv) } \frac{B_0^n \,_{n+j}}{B_0^n \,_{n+n_0}} = \frac{B_0^n \,_{n+j}}{B_0^n \,_{n+j+1}} \frac{B_0^n \,_{n+j+1}}{B_0^n \,_{n+j+2}} \cdots \frac{B_0^n \,_{n+n_0-1}}{B_0^n \,_{n+n_0}} < r^{n_0-j} \text{ for all } 0 \le j$$

$$< n_0.$$

Now, we will show that the operator $A = B^*$ is not unicellular. We need show that r can be chosen so that $S_e(A)$ is not one-to-one.

$$S_e(A) = \begin{pmatrix} 1 & 0 & 0 \\ 0 & B^1_{0\ 1} & B^1_{0\ 2} & 0 \\ & 0 & B^2_{0\ 2} & B^2_{0\ 3} & B^2_{0\ 4} & 0 \\ & & \ddots & \ddots & \ddots & \ddots & \ddots \end{pmatrix}$$

Let D be a diagonal operator defined by $D_{n} = B_{0}^{n}_{n+n_0}$, where

$$n_0 = \begin{cases} 2 & \text{if } n \text{ is odd.} \\ \frac{n-1}{2} & \text{if } n \text{ is odd.} \end{cases}$$
Then $S_1(A) = D(Q_1 + Q_2)$, where Q_1

Let
$$D$$
 be a diagonal operator defined by D_n $_n = B_0^n$ $_{n+n_0}$, where $n_0 = \begin{cases} \frac{n}{2} & \text{if} \quad n \text{ is even} \\ \frac{n-1}{2} & \text{if} \quad n \text{ is odd.} \end{cases}$
Then $S_e(A) = D(Q_1 + Q_2)$, where Q_1 is defined by
$$(Q_1)_n \ _k = \begin{cases} \frac{B^n_{0-k}}{B^n_{0-n+n_0}} & n+1 \leq k \leq 2n-1, \ n \geq 2 \\ 1 & n=k, \quad n=0 \text{ or } 1 \\ 0 & \text{otherwise} \end{cases}$$

and Q_2 is defined by

Joo Ho Kang and Young Soo Jo

$$(Q_2)_{n \ k} = \left\{ egin{array}{ll} rac{B^n_{0 \ k}}{B^n_{0 \ n+n_0}} & k=n, & {
m or} \quad k=2n \quad n \geq 2 \\ 1 & k=2, \quad n=1 \\ 0 & {
m otherwise}. \end{array}
ight.$$

Let Q be defined by

$$Q_{n \ k} = \begin{cases} 1 & \text{if} \quad n = k = 0 \quad \text{or} \quad 1 \\ 1 & \text{if} \quad n \ge 2, \ n \text{ is even}, \ k - n = \frac{n}{2} \\ 1 & \text{if} \quad n \ge 2, \ n \text{ is odd}, \ k - n = \frac{n-1}{2} \text{ or } \frac{n-1}{2} + 1 \\ 0 & \text{otherwise}. \end{cases}$$

LEMMA 4. For the above operators, we have the following.

- 1) Q is a semi-Fredholm operator with index $Q \geq 1$.
- 2) $Q_1 Q$ is bounded and $||Q_1 Q|| < \frac{2r}{1-r}$.
- 3) Q_2 is Hilbert-Schmidt.

Proof. 1) Q is surjective. Since Q(x)=0 for all $x=(0,0,x_2,0,\cdots)^t$ in ℓ^2 , $\{e_2\}\subset \mathrm{Ker}Q$. And $\mathrm{Ker}Q^*=\{0\}$. Hence Q is a semi-Fredholm operator with $\mathrm{index}Q\geq 1$.

2) For $n \geq 4$,

$$\sum_{k=0}^{\infty} (Q_1 - Q)_n \ k$$

$$= \begin{cases} \sum_{k=n+1}^{2n-1} \frac{B_{0 \ k}^n}{B^{n_0} \ n + n_0} & \text{if } n \text{ is even} \\ \sum_{k=n+1}^{2n-1} \frac{B_{0 \ k}^n}{B^{n_0} \ n + n_0} & \text{if } n \text{ is odd} \end{cases}$$

$$= \begin{cases} \sum_{k=n+1}^{2n-1} \frac{B_{0 \ k}^n}{B^{n_0} \ n + n_0} & \text{if } n \text{ is odd} \end{cases}$$

A non-unicellular operator

$$<$$
 $2\sum_{k=n_0+1}^{2n-1} r^{n+n_0-k}$ by Theorem 3, iv) $<$ $2(r+r^2+\cdots)$ since $n_0 \ge 2$ $<$ $\frac{2r}{1-r}$.

Thus
$$\sum_{k=0}^{\infty} (Q_1 - Q)_{n \ k} < \frac{2r}{1-r}$$
 for all $n = 0, 1, 2, \cdots$.

Consider
$$k \ge 3$$
, let $k_0 = \begin{cases} \left[\frac{2(k+1)}{3}\right] & \text{if } k = 4+3d, \ d = 0, 1, \cdots \\ \left[\frac{2k}{3}\right] & \text{otherwise} \end{cases}$
where $\left[\frac{2k}{3}\right]$ is the greatest positive integer that does not exceed $\frac{2k}{3}$

where $\left[\frac{2k}{3}\right]$ is the greatest positive integer that does not exceed $\frac{2k}{3}$. Then

$$\sum_{k=0}^{\infty} (Q_1 - Q)_{n \ k} = \begin{cases} \sum_{\substack{n = \frac{k}{2} + 1 \\ n \neq k_0}}^{k-1} \frac{B^n_{0 \ k}}{B^n_{0 \ n + n_0}} & \text{if } k \text{ is even} \\ \\ \sum_{n = \frac{k+1}{2}}^{k-1} \frac{B^n_{0 \ k}}{B^n_{n + n_0}} & \text{if } k \text{ is odd} \end{cases}$$

$$< 2 \sum_{n = k_0 + 1}^{k-1} r^{n + n_0 - k}$$

$$< 2 (r + r^2 + \cdots), \quad n \ge 2, \quad \text{since} \quad k \ge 3$$

$$< \frac{2r}{1 - r}.$$

Then
$$\sum_{n=0}^{\infty} (Q_1 - Q)_n |_k < \frac{2r}{1-r}$$
 for all $k = 0, 1, 2, \cdots$.

By the Schur test,
$$Q_1 - Q$$
 is bounded, and $||Q_1 - Q|| < \frac{2r}{1-r}$.
3) $\frac{B^n_{0 \ n}}{B^n_{0 \ n+n_0}} = \frac{B^n_{0 \ 2n}}{B^n_{0 \ n+n_0}} < r^{n_0}$ for each $n = 2, 3, \cdots$. So, Q_2 is Hilbert-Schmidt.

Joo Ho Kang and Young Soo Jo

Thus if r>0 is small enough, then $||Q_1-Q||$ can be made arbitrarily small. Then $Q=(Q_1-Q)+Q$ is a semi-Fredholm operator with index $Q=\operatorname{index} Q_1\geq 1$. Since Q_2 is compact, index $(Q_1+Q_2)=\operatorname{index} Q_1\geq 1$. Thus dim $\operatorname{Ker}(Q_1+Q_2)\geq 1$, so Q_1+Q_2 is not one-to-one. Therefore $S_e(A)$ is not one-to-one.

EXAMPLE. Let $A = B^*$, where r is sufficiently small so that $\frac{2r}{1-r}$ is small enough. Then A is not unicellular.

References

- [1] G. E. Andrews, Encyclopedia of Mathematics and its Applications, The Theory of Partitions, Addison-Wesley, Massachusetts, 2 (1976).
- [2] R. Beals, Topics in operator theory, The university of Chicago Press, Chicago and London, 1971.
- [3] J. B. Conway, A course in functional analysis, Springer-Verlag, N. Y. 1985.
- [4] _____, Subnormal Operators, Pitman Advanced Pub. Program, 1981.
- [5] I. Gohberg and S. Goldberg, Basic operator theory, Birkhauser, Boston, 1981.
- [6] P. R. Halmose, A Hilbert space problem book(second edition), Springer-Verlag, N. Y. 1982.
- [7] K. J. Harrison, On the unicellularity of weighted shifts, J. Austral. Math. Soc. 12 (1982).
- [8] J. H. Kang, On the unicellularity of triangular operators, Houston J. of Math. 19 (1993), no. 1.
- [9] H. Rajavi and P. Rosenthal, Invariant subspaces, Springer-Verlag, N. Y. 1970.
- [10] A. L. Shields, Weighted shift operator and analytic function theory, A. M. S., Topics in Operator Theory, (1970), 19-128.
- [11] M. Reed and B. Simon, Funtional analysis I, Academic Press, N. Y. 1980.
- [12] J. Weidman, Linear operators in Hilbert spaces, Springer-Verlag, N. Y. 1980.
- [13] J. Wermer, Banach Algebras and several complex variables, Springer-Verlag, N. Y. 1976.

Joo Ho Kang, Department of Mathematics, Taegu University, Taegu, 712 - 714, Korea

E-mail: jhkang@biho.taegu.ac.kr

Young Soo Jo, Department of Mathematics, Keimyung University, Taegu, 703 - 220, Korea

E-mail: ysjo@kmucc.keimyung.ac.kr